REVIEW E

Find the value of each of the following:
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&
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(a) (b) (c)
327 + 498 135 + 465 209 + 591
600 — 299 524 — 378 435 — 236

8 X 4 5x6 10x 8
12 =2 30 +~ 3 90 - 10

: $3.75 + $2.55 $8 — $1.99 $6.20 — $4.35

4 girls paid $28 for a present.
They shared the cost equally.
How much did each girl pay?

A magazine cost $5.80.
A book cost $2.75 more than the magazine.
Find the cost of the book.

Mr. Owens uses 5 liters of gas a day.
How many liters of gas does he use in a week?

David took 35 minutes to cycle from
his house to the library.

He left his house at 10:45 a.m.
What time did he reach the library?

203 people took part in a singing contest.

There were 128 adults.

(@) How many children were there?

(b) How many more adults than children were there?

81



